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O L evel Combined Chemistry MCQs

The Mole Concept and Stoichiometry Test 2.0

Q1

Dilute sulfuric acid reacts with agqueous sodium hydroxide as follows.

H2804 + 2NaOH = Na:S04 + 2H20

A 20.0 cm?® of dilute sulfuric acid required 25.0 cm® of 0.250 mol/dm?® aqueous sodium
hydroxide for complete neutralisation.

What is the concentration of the acid?

A
B
Cc
D

Q2

0.100 mol/dm?
0.125 molidm?®
0.156 mol/dm?
0.312 mal/dm?

Which one ¢f the following has the same number of particles as one mole of
magnesium atoms?

o O W P

Q3

the number of atoms in 71 g of chlorine gas

the number of atoms in 64 g of copper metal

the number of ions in 1 dm?® of 0.25 mol/dm? of dilute hydrochloric acid
the number of ions in 81 g of zinc oxide

The chemical formula of two substances, W and X, are given.

w NaA/Si3Os
X CaAlLSi20sg

Which statements are correct?

O wmw >

1 W and X contain the same amount of oxygen.
2 W contains three times as much silicon as X.
3 X contains twice as much aluminium as W.

1 and 2
1and 3
2and 3
1,2and 3
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Q4

For the reaction shown, which volume of 1.0 mol/dm® hydrochloric acid is
required to react completely with 5 g of calcium?

Ca + 2HC/ - CaCk + Hz

A 5cm? B 10 cm?3 5- 125 cm? D 250 cm?

Q5
The diagrams below show the structures of the atoms of two elements.

What is the relative molecular mass of the compound formed by these two
elements?

A 11 B 14 c 23 D 30

Q6

40 cm? of carbon monoxide reacts with of 20 cm?® of oxygen. The equation for the
reaction is shown below,

2C0 (g) + Oz (g) — 2C0:z(g)

What volume of carbon dioxide will be produced?
(all volumes are measured at r.t.p.)

A 20 cm? B 40 cm® C 80 em® D 80 cm?

Q7

The formula of an oxide of an unknown metal, U is UO,7?
What is the formula of the corresponding fluoride?

A UF; C UFs
B U,F D  U4F
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Q8
The reaction of sodium carborate and hydrochloric acid is shown below.
2HCI + Na,CQ3 — 2NaC/l + COz + H0

What is the volume of 0.2 mol/dm? hydrochloric acid required to react completely with
25.0 cm?® of 0.1 mol/dm® aqueous sodlum carbonate?

A 125cm?® C . 50.0 cm®
B 25.0cm® D 100.0 cm?
Q9

Ammonia ¢an be produced by reacting nitrogen gas and hydrogen gas.
The chemical equation for the reaction is

N2 (g) + 3H2 (9) - 2NHs (g)

If 300 om? of nifrogen gas reacted with 600 cm?® of hydrogen gas, what is the total
volume of gaseous substances remaining after the reaction? (all volumes are
measured at r.t.p.)

A 300cm? C 500cm?
B 400cm’ D 800cm?
Q10

The chemical formula of two substances, W and X, are given.

W NaA/SizOs
X CaAkSiz0Os

Which statements are correct?

1 W and X contain the same amount of oxygen.
2 W contains three times as much silicon as X.
3 X contains twice as much aluminium as W.

1and 2

1and 3

2and 3

-1,2and 3

o o w >
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Answers
The Mole Concept and Stoichiometry Test 2.0

Q1C
Q2A
Q3B
Q4D
Q5D
Q6B
Q7C
Q8B
Q9C
Q10B



